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Marks;so‘%
1I: <7)'\qsﬁbbs has rul is mterested in " o variants’
Answer: &T bHF&T c)p & conc. d) T & conc.
5lo S\ 7leb 2 sole\ S0
2: What do you expect tf you add NaCl to HzO a;p crease in the’
, b) VP c) FP d) BP
XS 22,43 D), 4
3: The three phases of CO; in"the phase diagrgm meets?
Answer: a)atl atm @over 1 datm ¢) below latm d) at any pressure
Ao g
4: The phase of Wm ----- z
Answer a) gas @lz Id c) soltd \ d) plasma
L 3%05€ » o S G\ sas 20
5: How many phases are there when the nL; mber of &Zian s is 0 and the numbﬁr'gjbcomponents%l% one?
Answer: a) zero 9/' )2 d)3

o AS O Siee &J\JQV,))/ WNQ\J.PL@V‘PA)M\JSQ—}
6: The C?lapeyron equation can be applied when there is an equilibrjuin between one of the following?
Answer: a) melt. & freez. b) sub. & depo. nd. d) all of these
Answer: a) melt. & f ) sub. & dep «W :  dallof

QSJW)QU W‘,_JYLY ,f//

7: The relationship between VP and mis= Ee 2 Mooy
Answer: a) direct @mver ¢) disordered d) none of these
= SURN WDy VISPS PL-%
8: Ifyouadda----—<- to a solvent, then there is a change in the colligative properties of the solvent.
AM @no olatile soluté” b) ve b) volatile solute ¢) pure solute d) pure solvent
o2yse)1 =< S \oBognd st
9: Osmotic process is used to push the solvent to the & '
Answer: a) solute b) impure solute ¢) mixture W‘
ooy 5 gD\ 0 9
10- One of the most tmportan benef s o easui;l%gqr‘n:)lar mass of the/;glute is to study tﬁm change in----- :
Answer: a @ oV dp
r‘;}}é\b # S = )
= CS) }*’j # s w
()A“’ e cs—gJ S 1\9)

877 0.5 mol of a non-P-solute was ad ed to 12 0 mol of P-solvent VP~ is 12.0 kPa at 295 K. What is the VP at
g Clg L. s (L ESE NSNS ST - _
295 K? Determine tlie deviation of this solution from Raoult’s law where VPigeal = 10 kPa. Marks 25%

m Plot the phase diagram of the system (A & B) assumed that (A & B) do not react with each other. A
freezes at (— 6 °C) and B freezes at (8 °C), and that an eutectic mixture is formed when the ratio is 60 wt

% of A and tHat the eutectic melts at (=9 °C), then label all the parts (p & F) of the diagram?i " -0
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